Ratio to ATLAS

1/0 do/dg’st,
|—\
3

13000 GeV pp Z (Drell-Yan)
— I I I T TTI I| I I I T TTTI | I I I T TTI I| I I I TTTI g
- o (Il) (ATLAS Z production) 12
= f —=s
[ )
- ] N.
10 — g _ES'
— = <
— M
0T E EE
= 4
o 18
10 = e
— .=
~ mEs
4| m ATLAS e
10" E7 4+ Pythia 8.308 default =5
- ¢ Sherpa 2.2.9 default - §
107% == —Eg
= =15
B | | I I I | | | L1 1111 | | | I I | | | L1 11 II_ E
— ' L L ' L L ' L L ' ' """:
2 B =2
1H -1
05 ‘ — 0.5
L Ll L Ll L Lol L Lo b
1073 1072 1071 1 10



	Contents
	Page 1


